=LPDB

3RV\’A‘CSRZDQLI:I F\ZLIQH
ZDU GU -DVIEVND

3RVICSRZDQIH F\ZLIQH

3UDZR IlQDQVRZH Z SIR

3UDZR IlQDQVRZH Z SIR

3UDZR IIQDQVRZH ZDU

3UDZR IIQDQVRZH ZDU

*UXSD 5R]NiDG 35% ¢ 7\J
o
0]
—
]
7\ AN
3RV\’iCSRZDQLH F\ZLQH 3RV\’iCSRZDQLH F\ZLQH
Z GU -DVLEVND -XVINQD Z GU -DVLEVND -XVINQD
35% : z 35% : z
RQUQH RQIUQH
=
= 7N 7N
O
=
w 3UDZR JRVSRGDUF]H 3UDZR JRVSRGDUF]H
SXEILF]QH L SIDZR SXEILF]QH L SUIDZR
NRQNXUHQFIL Z  GU NRQNXUHQFIL Z  GU
= RINRZIDN $QQD = RIINRZLDN $QQD
35% : z 35% : :
RQIUQH RQIUQH
AN AN AN AN AN AN 7\

6HPLQDUXP GU OXFKD

-$5
RQIQH

©INJ  ]DICFDGR
RQUQH

XVAQD  35% = ZDU Gl ~DVIEVND I 1Z GU KDE *IXPLEVND I 1Z GU KDE *IXPLEVND PJU 6]HFyZND 3DZHi PJU 6]HFyZND 3DZHi _UJWIRI  35$ =
:$5 XVAQD  35% = 3DZIF -DGZLID  35% 3DZIF -DGZLID  35% 35% - :-$5 35%:  :-$5 6(0
RQIQH =85 - - - - RQIQH RQIQH RQIQH
RQUQH RQUQH RQUQH
7N 7N
3RVICSRZDQH FAZLIQH 76l 76l 76l
a Z Gl -DVIEVND -XVINQD 3UJHGPLRI GR Z\ERUX 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH 6HPLQDUXP GU OXFKD
= 35 = - NHUXQNRZ ,9 GU = UyEH SXENF]QH L SIDZR SXENF]QH L SIDZR _UJW]IRI  35% =
] ROIOH SIHNVDQGHU  35% = NRQNXUHQFL Z G NRQNXUHQFL Z G 6(0
[ ! =35 = RINRZIDN $QQD = RINRZIDN $QQD .
> 35% = - 35% = - RQUQH
7\6] RQUQH = s = s
3UDZR JRVSRGDUF]H — RQUQH RQUQH
SXENF]QH L SIDZR 1 = =
NRQNXUHQFL ZDU G 3UDZR JRVSRGDUFTH
= RINRZIDN $QQD SXENF]QH L SIDZR 3UDZR JRVSRGDUFTH 3UDZR JRVSRGDUFTH
35% = :-$5 NRQNXUHQFL ZDU G SXENLF]QH L SIDZR SXENF]QH L SIDZR
ROIQH = RINRZIDN $QQD NRQNXUHQFL ZDU G NRQNXUHQFL ZDU G
i 35 = :-$5 = RINRZIDN $QQD = RINRZIDN $QQD
RQUQH 35% - -$5 35% - -$5
| ‘ RQUQH RQUQH
7N 7N 7N 7\6]
a2 -é=<., 35%: = 3UJHGPLRI GR Z\ERUX 6HPLQDUXP GU OXFKD
L 3UJHGPLRI GR Z\ERUX NIHUXQNRZ ,9 GU = UyEH _UJW]IRI  35$ =
5 NHUXQNRZ ,9 GU = UyEH SIHNVDQGHU  35% = 6(0
% SIHNVDQGHU ~ 35% = =35 ROLOH




=LPDB

*UXSD SRINiDG 35% -

7\J

QLHG]LHOD

7\J

3UDZR JRVSRGDUF]H
SXEUF]QH L SUIDZR
NRQNXUHQFIL ZDU GU
= RIINRZIDN $QQD
35% : -$5

RQIQH

7\6]

6HPLQDUXP GU KDE
%RJIXViDZ 3UJ\ZRUD

7\6]

6HPLQDUXP GU KDE
%RJIXViDZ 3UJ\ZRUD

35% - 6(0 35% - 6(0
RQUQH RQIQH
7\G]
6HPLQDUXP GU OXFKD
JUIWIRL 35% =
6(0
RQIQH
N
3UDZR JRVSRGDUFTH

SXEUF]QH L SUIDZR
NRQNXUHQFIL ZDU GU
= RIINRZIDN $QQD
35% - -$5

RQIQH




